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JNFATS A g ‘
F= }\/F1+F§+2F,F20059 (kgf) (1-1)
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tef=-5 17 F,+ F,cosf (1-2) /<:7\
tga= Fﬁ-?'ﬁ:is@ -3 nA, £
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MEEAS N ZRETER, W

#=Fcos8,, x%,=F,cosb, F2
F .

xg=Fycosb,, : F,

é
x,=F,cosl, xs=Fycosb, Py o

y,=F\sinf,, y,=F,sinb,, P N0

ys=F,sin by, Fy

y,=F ;sinf,, ye=Fysin b,

X RS2 Fy=%+% 1%
Ei-2 AT ER

+x,+ X
yHRghzm Fe=y+ty+tystytus
S hFHKR/NOF AR
F=n" Fi4+F} [kef] (1-4)
tg =5 (1-5)

[(FiEm1] Z=E1-1, F,=80 kgf, F,=60kgi, 0=
60 1, RENFRIHME, '
(#1 BaRQ-1), BEN
F=nF ¥ F+2F F,cos0
=a/802+60%+2 X 80 X 60c0s60°
=121,7 [kgf]
B (1-2), FANFGR
tgf= Fysing _  60xsin60°
Fy+F,cosh 80 +60cos60
=0.473
B=tg '0.473=25"19'
ety F, K25 19 Xk A,
THIEE 21 7EEI1-25h, F,=20kgf, F,=30kef, Fy=
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15 kgf, Fq-l()kgf, F,=10kgf° 01230., ez=60., 93=
30°, 0,2=45°, 0,=45" B}, KENWKRIFIA. '
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xy=F,c0830° =2 X A{Zé =17,32 [kgf]
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. N&)
%g=F4c0s30° =—15 X »2—3~= —12.99 [kef]

x,=F cos45° =—~10x% :/%:- —0,707 [kgf]

Xg=F g cos45° =10 % :/L,;:=7 .07 [kegfl

~ K4
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Y.=F,sin6( " =30 x “—;-=25 .98 [kgfl

Yo=Fsin30°=15x5=7.5 [keil

. o - _l::____‘
y,=F sin45° = 101\/2 7.07 [kgf]L

Yo=—Fysind5" = —10—j?= ~7.07 Ckgfl

X BFRST 2R Fo=2y %+ %+ %, + 2%, =17 32+ 15—
12,99—7,07+7.07=19.33 [kgf]

Y TS T Z R Fy=ty+ U+ Us+ Yot gy =10+25 98+
7.56—7.07—7,07=29, 34 Lkgf]




4

Fe=nF 4+ FT =a/19.33*+29.34°
=35.14 [kgf]

M= (1-5) 7875
F, 2934

tgl=

aoa =1.5178

F, 1933

f=tg™'1.5178=56°37'16"
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M=Fl [kgf-cm] (1-6)

M=Flsinf (r=Isinf) ‘ (1-7)

(2) HiBKE(EI-4)
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F

Ei1-s HB4E

KANEEF AR B VAT &R
RNB. BiEEDBOERT ™AW
gh, NBESXNAARNBEERE
WERER, BAMEBERNIEE, W

M=Fl [kgf-cm] (1-8)
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BIMERAOKELE N
I F
Fi Fr F,
l 0 J o A f
A B ‘ , B
i -
a) b)

Hi-5 FITHHOER

2) BRIABEFTHEOER (E1-5b)
BRHABRERORFT N F. Fo(F>F,), €7 F &
TABERK & LHOS, MEBHRITRANNEHFS

F=F,—F,
ANERENMEN
F - Fy
OA= __’“’F AB, OB= F— F AB (1-7-‘10~)

CHIEE 13 zk@bﬁﬁl!%O-ﬁEﬂjJ%E
(#]1 HE1I-eafA (1~7)
M=Flsinf=50 % 400sin30° = 10000 [kgf mm]
M A 1-6b AR (1-6)
--F1==30><(300+40000530°)=19380 (kgf-mm] ,




) 50kl
400 l
) 30°
e
4 Y
3y
[PIME 2] #EE1-7¢h, F, AZDF 7N HEk R #HP
5. |
60kef Fi
1m 2m

al

B -1

[#1 ©a, F1’1=Fz’z
60x1=F,x2, F,=30 [kefl
B bs F|‘1=in2
20 X 300=F, X200, Fy=30 kef
[PigE 31 #£E1-8+1, R

6okgf

RS R4y Rs, 1) =30 12=70
[#2] RA":wlz‘
Ra =J‘EII.L= “991 :)(070 ‘ . 1 =100
- =42 [kef] ’ | *
Ry=60—42==18 [kgf] E 1-8
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CHKE 41 & A, BEA, Bk 2m i # # 50kgf R
Y, A K% 20kef, B RS2 30kgf, REWHNE.
[R1 BR(1-9) '

F, 20
Fy+F, ABw= 20+30

BEWAER B & 80em,

OB= %x200=80 [cm]

-3 h X &
(1) ERF—-ENhBES (FH1-9
AN EREDER LN, NSEER, FHERSRE
HERNATHERARRE, WENRMEHLETPE, 28
1-9bh, EENW X, y HASBERE X 5 & Fa. Fa.
Fasw Fapy Fogy Fyy, Fyoy Fygy Foypy Foypy X B AT
SHRZRNENHNER, KANETFEERE,

F;

Fi 1

(o]
Fs
Fa Fis Fx,
a) b)

Ei-9 {ERAF—RAIKFHE

SN
Fp=Fcosty, F, =Fsinf,
F.,=F,cos0,, F,,=F,sinf,
Foy=F,ost,, F,,=F,sinf,
F.=F,cosf,, F,=Fsinf,




Fpy=Fycosly, F,=F,sind,

5 4 -
Fayt Fayt Fayt Foyt Faym0
Fo+Fyy+ Fyod Fyt Fg=0

"(2) EhETEH
EE 1-10 th, UF3 Fy, Fy, FoyfbFPHm, & 50
Foiydesal 6, FofnF W% A R0, Fiff, 1Mk
g, T
F, F, _F

;; (RiskE ) (1-11)

sinf, sinf,  sin
(3) FIThEHEH ls
Bi-11d, B F R EME ls
Wiy W tERTT 40 RIER /2
. ” 7 oo | Wa
W,
0. Fi A y B
F, /
. R Rs
E 1-10 = -1 AT RNV

HAEHIERS, BELSA, BORIER 7 A R, Bp, T
W|‘+WQ+W3+W4=RA+RB

s A BB ZRA0
RAXOthll—Hlez-‘Wsls—W4l4+Rgl=0
RB= W111+W212?W313+W4l4 [kgf]
¥R 71 R,

Ry=(W +W,+W,+W )—Rs [kgi]
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(FI 1] £EL-120, SHEERAF, F,BN R %
BT e

(] Fo=Ficos30" =F, x5

—é““=0_ 866F|

Fzz=—F2c0560°=~F,x%=—0.5F7

F,;3=0

Fy=Fsin30°=F, x + =0.6F, r
. 2 60 \ 20°

: Fy;=Fys1n30 ==F2><—"{2-‘°’f=0,866Fa
. F,=-—2000 2trd
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B EFER

Fy=1000kgf F,=1732kgf
Jm A i 55 2 2R ) :
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=-20%100~—40%x200~-60 %300
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